LESSON 9-1

Practice and Problem Solving: A/B
l.x=-5o0orx=5

. ho solution

.X=-1lorx=1

.Xx==-30rx=3

. ho solution

x=0

X=11lorx=-11

X=70rx=-7
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.X=60rx=-6
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X==-120rx=2

[EEN
[EEN

.Xx=1lorx=-9
.x=150rx=13
Xx==-30rx=9
. ho solution
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.X=-6orx=4

. x=—1i\/§
. x=34_r\/§
. x:?i\/§

. length = 200 ft and width = 100 ft
.28
.40 ft
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LESSON 9-2 Practice and Problem
Solving: A/B

l.x=-5o0orx=1
X=-20rx=4

X=5

X=-50rx=3
X=120rx=-2
.Xx=-8orx=4

X=1+2 orx=1-+2
x=3+\/§orx=3—\/§

. x=2+\/§orx=2—\/§

. x=1+\/§ orx=1—\/§

. x=—2+\/§orx=—2—\/§
. x=2+\/§orx=2—\/§
 x=1+2y2 orx=1-22
. x=2+3\/§ orx=2—3\/§
. x=5+2J2 orx=5-22

. The width is 16 feet and the length is
20 feet.
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LESSON 9-3
Practice and Problem Solving: A/B
1.3and -4

2. 5and —§
4

3. 3and —1
2

~11++/61 and ~11-+/61

6 6
5. 7and 4
6. 7and -7

7. E and —i
3 2

8. 2and -10
9. 0° — 4(1)(25) <0, no real solution
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LESSON 9-4  Practice and Problem
Solving: A/B
1. x =4 or x =—4; taking square roots

10.

(ﬁ )2 — 4(3)(-3) >0, two real solutions

(8)> —4(1)(16) =0, one real solution

No; the discriminant is negative. There
are no real solutions so the ball will not
hit the roof.

because b=0
11

1 ,
. X = > orx = > ; taking square roots

because equation is expressed as a
squared binomial

. X =7 or x =—4; factoring because not

too many factors to check

. Xx=3 or x =-2; factoring because not

too many factors to check.

24410
2
complete the square or use quadratic

, X=2.58 or x=-0.58;

formula because trinomial doesn’t factor

. Xx=-5+27, x=0.29 or x =—10.29;
complete the square because a=1 and

b is an even number

o 4.3+4/11.29

3
guadratic formula because trinomial
doesn’t factor and the coefficients are
not integers

1

, X=2.550r0.3%

. X = > or —% ; factor or taking square

roots because b = 0; difference of two
square factors

. 1.55 s and 2.83 s; quadratic formula

because the trinomial doesn’t factor
4 s; taking square roots because b =0

LESSON 9-5

Practice and Problem Solving: A/B
1.(2,2);@3,7)

3.(-3, 6), (2, 1)

4. no real solutions
5. (-1, -2), (2, 7)
6. (-5, 0); (6, 11)
7.(-1,0); (3, 8)
8.(-2,-1), (-1, 0)
9. 1.875 seconds
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